PROBLEM:

For each of the following signals, pick one of the representations below that defines exactly the same signal.
Write your answer x;(¢), x2(t), x3(t), x4(t), or xs5(¢), in the box next to each signal. In addition, write the
complex amplitude (X}) of the sinusoid for each casein the space provided.

ANs = 2cos(4mt + Tm/4)
X =

ANS = 2cos(4nt + 5w /4)
X =

ANS = I3[4Tt | o34 = jdmt
X =

ANS = g{e{(ﬁ+jﬁ)ej4nz}
X =

ANS = 2cos(4mt + 91 /4)
X =

POSSIBLE ANSWERS: Some of these answers can be used more than once.
If one answer is used twice, another one won’t be used at all.

1. x1(t) = cos(dnt + T /4)
2. x(t) = Me {ze—j7n/4ej4m}
3. x3(1) = 2cos(4nt — 5m/4)
4. xa(0) = e {(—v2 = jVDerm ]

5. x5(t) = e/ IA At | o= iTn/4 p= jdmi



